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7, yl.rt are the main objectives of monetary' policy ? Discuss the main to.l" ;";;;;';:.Central Bank to achieve tf,""" oU:".ti"l.l
15

q)tr+, frfr * ger s1*qfr q;r e.fq ?6tr +ftqtiq am nqft ;,q qr+ *tr+ *ft sq-rr{-i efr
"qtqr dfrCl

8. W:ite short notes on aly two :

MuT

ffi + qr €hR EqFrd Rfuq ,

(a) Balanced Budget Multiplier
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(c) Speculative Demand for money.
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(b) Answer aly five questions.
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2. (a) Distinguish between :
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(i) Gross Domestic product and Gross.
National product.

H-S-d qtq silIrE irefi s+e rrsq s_flrE' (ii) Gross Nation6l product & Net National. Product
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Calculate :
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(i) Equitibrium
I cohsumpticiri '

level of income &

Explain the determ ination of equil ibrium level
Does tf-ris
of income in a tw

equilibrium always o
o sector Keyn

ccur at the
esian model.

employment level of output ?
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{b) Exp for Money.
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